1) ‘OTEdT GTRAT ATE IFER AT arard CIAES 2 e mvrear gare e ?

A) Wadge e
B) wgFd fwameg

2) Aaas g g1 arevarTear AT aEavar iaar,
A) dEI@ gor
B) S ol

3) JaIN AU 3TwAT JHa.

A) T

B) ¥&

4) TAEATAS Fal NBAT. “TWAT I TAS aredr”
A) &IET
B) ST

5) mm-maam-gmmﬂmmm
A) &l gaqeT
B) M4 wayar

6) AT 3t A3 AwAraees R A domar sreary
A) fadwyor
B) T fastyor

) 3yufau fRame
D) urdfy Uy ARl

C) YQYAT FI0

D) dlz Heor

C)

3 A

D)

C) AT
D) areer

D) ITIHr THE AR

B) TURTURMEZA &3 HMHRUATT ST * I ST 9997 Hiesar
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9) HaE®HR N,
Ao WAET 91 9 ||
A) TRIA IFHR

B) Tadumma 3rgwr

10) MR WS,

(') TR AN

D) | AR

Tl TNAR O3 W Urad AT Al S FeAwias T g,

A) ITAT HAFT

B) 19 IEFN

1) O arargs aeg e WU A 3.
A) B JaemEar A wd Md argH
B) Bl Iaeaniayr M wd AWwd ange

ZIFUTIY IMR," FAF FRUTT.

A) PR
B) gHOY

13) I =TT AT HY Wielld GAamAYy fAasr. ‘3uer
A) FAAGA e AUUIRT HH
B) SWRIGHA FIHGURT Gayar

14) EH@ a1 T el Al rEwR ey
A) A TFAAUS T
B) & A SN

|5) Fgoilaeed AT Thrdr Ssr e,

A) @ror @2 A - HSErTyATT
Ho.

=

B) 7A@ 93 F1Y - IS FLONATAT
ETclel gl & B #ATe.

Z-16-A 3

C) TUF HAGN

D) IURTT R

C) g Sacaea #r ad A argA
D) Q" AdearHal I w7 IS A

TIRUTI 3ME, AT 7RI ™

C) HaHI
Ny Tafka

C) BWRIGS 395 @Ol 7d)

D) AEK SAUAT FHpTAT A qroft A4,

qUgTEr AEEr HIET.

C) o susdmde gdegR
D) & eHAtTS HeHAveH

() EaR gy @AY - Afass ATTETET
JrATfa goars gt Ad.
D) eyt Arcfrear gt - a9 el

THAEAT AT,
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16) Identify the type of underline word.

Komal got a beautiful dress at the mall.

A)  Preposition C) Noun

B) Adjective D) Conjunction

17) No sooner did ] the room (he intruder ran away.

Choose proper words from the following words to fill in the blanks in the above sentence.

A) entered, than C) entered, then

B) enter, than D) enter, then

I8) Which one of the given options is correct aboul the given sentence?

"Either she or they have to attend the mecting'
A) nght

C) usc of they in the sentence is wrong
B) wrong

D) verb *have’ should be ‘has’

IQ] Change the following into indirect speech,

He says, “Itis a fine day”

A) He said it is a fine day,

C) He says that it was a fine day.
B) He said that it was a fine day.

D) He'says that it is a fine day.

20) It was a very fine moming.
Which of the options best represents the exclamatory form of the above sentence?

A) What was the fine morning!

C) The moming was very fine!
B) How fine was the moming!

D) What a fine morning it was!

21) Antonym of Blunt

A) Easy C) Sharp

B) Lazy - D) Speedy
22) Synonym of Abjure

A) To give C) Happy

B) To take back D) Sorry
23) Choose the word spelt correctly.,

A) Maxculine C) Masculine

B) Massculine D) Macsculine
24) What is the Meaning of Soft-Soap?

A) Adamant C) Inspire

B) Suffuse D) Gentle Urging
Z-16-A
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25) Choose the correctly spelt word,

A) Atmasphere C) Atmesphere

B) Atmosphare D) Atmosphere
26) e was a good swimmer so he swim 1o the river bank when the boat sank.

A) Could C) Succeeded

B) Might D) Was able to

[ |
=]
—

Read the information carcfully, Choose the specific word that is described in the clue.

“Many people believe that if a cat crosses your path, then your work will not be done. Many times people believe in
things which are not really logical or reasonable, It is called
A) Trust C) Fanlacy

B) Fact D) Supc_;sli!inn

28) Complete the dialogue with correct option

Meena- [ am getting ......oovvennee. it’s too cold here.

Mother- Don’t worry dear. I'll bring sweater for you.

A) Bored C) Tired

B) Confused D) Chilled to bone

29) Choose the word closest in'meaning to the word printed in capitals in the following sentence :
The company's future is CONTINGENT on the outcome of the trial,
A) Comagious C) Contiguous
B) Dependent D) None of the above

30) Change the following into indirect speech :
He said, “I have been helping the poor.”

A) He told that he has been helping the poor. C). He tells that he has helped the poor.
B) He said that he had been helping the poor. D) He says that he is helping the poor.

31) Which of the following sequences of Ghats in Maharashtra from South to North is

correct?
PRI WA e 2RoiRge Seatad FOTT FH TR 3R 7

.A) Bor, Kumbharli, Amba, Fonda C) Kumbharli, Fonda, Bor, Amba
B) Fonda, Amba, Kumbharli, Bor D) Amba, Bor, Fonda, Kumbharli

Z-16-A 5
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321 Most of the matter in the universe exists in the

farha g et muEn fFeha NiTereara radaa?

A ligquid state C) gascous stalc

B)  solid state D) plasmn state

33) An example for non-renewable source of energy:
AT Aoy Iradadeha 397 IEEI0T IR?

A) Solar energy ) Wind f“f-'fl:'»)';

B)  Petroleum _ D) Waler power

3 N - ' . . .
34) In which district of Maharashtra the first co-operative sugar factory was established

mmﬁmmmmqumﬁm

A)  Kolhapur
B) Sangli

C) Ahmednagar
D) Pune

35) Which one is recognised as “State Tree™ in Maharashtra?

mmqumwvmmqﬁrWM?

A) Banvan tree C) Neem tree
B) Jackfruit tree D) Mango tree -
oo tree

36) After returning from South Africa, Gandhiji launched his first satyagraha in 1917 in:

TR0 A AFY e WA rearay Tt ceeseeennens WY GTREAT FeATIRTET 3RS Far
A)  Chauri-Chaura |

C
B) Dandi ) Champaran

. D) Bardoli

37) Who/Which of the following is the custodian of the Constitution of India?

v, & HRANT HRAUHAR 1270 MR

A) The President of India

C) TI :
B) The Prime Minister of India ) The Lok Sabha Secretariat

D) The Supreme court of India

38) Recently, for the first time in our country

which of the followi
Ing States has
Blue mormon butterfly as *Srate Butterfly"? b e

&St A am.

A)  Arunachal Pradesh
B)  Himachal Pradesh C)  Karnataka

D) Maharashtra

e AT ASAR BT TETUR "&q ATAT" PR TS $aurgs”

Z-16-A
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39) Carlton Chapman, who passed away recently, is associated with which sports 9

FeA T, S AT AT SR, A L Qe TR

A) Cncket () DBasket Ball
B) Hockey ) Foot Ball

40) Which organization operates the 'FAST Tag" in India?
AT RN FE U s e S gord ATy

A) Taa Consultancy Services C) National Highways Authority of India

B) Highways Department of states D) State Bank of India

41) The world's largest COVID care centre was established in which Indian state/ UT?

mmmmﬁmmgmmwrmmmmmmm

A) Maharashira C) Gujarat
B) New Delhi D) Tamil Nadu

42) Which Indian-origin nurse has been conferred with the Singapore President’s Award

for COVID-19 Services? .

TS ... mmmmmxmﬂmmm-:qﬁmwmm
AT Foara Ha

A) Kala Narayanaswamy C) Ankit Bharat

B) Bhasha Mukherjee D) Uma Madhusudan

43) Who has composed India‘s Official Olympic Theme Song for Tokyo Olympics?

A) Mohit Chauhan () A.R.Rahman

B) Anjit Singh D) Shankar Mahadevan

+4) Who was the captain of the Indian men's hockey team for the Tokyo f)lyrtipim’.’
mmﬁmﬁmmwmmwmms
A) Manpreet Singh
B) PR Sreejesh

C) Harmanpreet Singh
D) Birendra Lakra

43) The sea coast of which one of the following states has become famous as a nesting

place for the Olive Ridley turtles from Pacific?

mmmmmmmmmmmm

C) Odisha

B) Gujarat D) Tamil Nadu

Z-16-A
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46) Cardiologist : Heart Dermatologst @ ?
FeaT §9 ¢ gey o eddidr asn ?

A) Dream
B) Diabetes

47) Botany : Plants : : Seismology : ?
FATTARMET © TAET o HIAFT [ 7

A) Birds
B) Animal

48) Which word do not fit in the gmu'p:

T F THUTRT g HIorar ?

A) Diamond
B) Gold

49) The sum of three consecutive numbers is 93. The preatest among these three numbers is

& A Aom-ar FEar 90T /3 IR, av & dF gegmdie ward A JAEar HvT?

A)27
B) 28

) Skin
D) Infertility

() Earthquakes
D) Water

() Coal
D) Graphite

C) 30
D) 32

50) Ganesh sold a car to Sarthak at 15% profit, Sarthak sold car to Ankur at 5% loss for Rs.43,700. Find the price at which

Ganesh had purchased the car.

TR 4% AW BA UF FR ARAFAT [@F). @dea 9% dier Fga F ol F HHIAT ¥3,boo T

fawdl, av e & FR S Tmed @id &7

A) Rs.40,000
B) Rs, 32,000

51) 2589*1 is completely divisible by 11. Which digit from below should be in place of *?

R9¢Ret TT HTATT 1t A U7 39T STUARTIE! « T SR WA Horar 3 - 3ramar?

A) 3
B) 4

52) Find the set of characters in place of question mark:

geAfegrar Al HivmEr e B2

ACFJO, BDGKP, CEHLQ, ?
A) DFLMR
B) DFINR

C) Rs.48,000
D) Rs.46,000

C) 7
D) 5

() DFIMR
D) DFIMS
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53) Price of anarticle i< Rs.3500 and is sold o 1004 i
V0% discount. A furiher discomnt of 5% is piven due to off-season. What

is the selling price of an article?

& 39ee F Rarhn
il « !ﬂ'l}"u - :
Y B " U S Ry e fareliar awe sidne@ 4% fE el v am
m c f?fﬂ'(a F’I?ET[? ,
A) Rs2975.8
B) Rs.29925 C) Rs.3100
D) Rs.3050

Conclusiony :
frsFy:

A) A poor man is always able

B) A poor man has C) A wealthy man is always able.

the ability 10 earn wealth,
) mw D) A poor man can carn wealth if he has ability.

55) Ina group of fiv iti
5 € people, K.L and M are ambitious, M\N and R honest LM and K.N and R are industrious. Among

these neither ‘ iti
ndustrious nor ambitious person (s) would include.

qrd AT - :
’THHK.Lmﬁmtm&hm;m,ugmﬁmﬁmmﬁﬁw.mm&w

Hﬂwm.mmmmﬂmmmmﬁm
A) K alone |

i Laaan C) MandN

D) None of the group

56) Consider the following figures:

TS HF T8I o,
2 6 3 "
80 |24 120 | 36 |

What is the missing number?

weefaegTear Sl TEar fol

A) 7 C) 9

B) 8 . D) 10
2164 9
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57) Raju has Rs.2000 with him and he wants to buy a mobile handset:but he finds that he has only 75% of the amount

required to buy the handset. Therefore, he borrows Rs.2000 from a fnend. Then

TTHS Qeoo T, . TUTST AATES W) aFraarar and, W Mardq ElﬂTﬁT{HﬁnFﬂTﬂngTﬁaTém
ﬁnmwuqeamamammmammﬁmﬁ‘mr@?uuuz:_mmnaaa,

SR
A) Raju Still does not have enough amount to () Raju has enough amount to buy the
buy the handset handset and he will have Rs.500 with him
B) Raju has cxnr:ﬂy the same amount as afler buying the handset

required to buy the handset D) Raju has enough amount to buy the

handset and he will have Rs. 1000 with

him afler buying the handset

38) Rohan walks a distance of 3 km towards North, then turns 1o his left and walks for 2 km. He again turns left and walks

for 3 km. At this point he tumns to his lefl and walks for 3 km. how many kilometers is he from the starting point ?

.ﬁ.] | km ‘.

C) 3km
B) 2km DY Skm

39) Among five friends Mahesh is taller than Kunal but not tall as Yash, Ajay is taller than Yash but smaller than r\hhislﬁk.

If they stand in Increasing order of their heights, who will be first in line ?

m%ﬂmﬂnﬁrm%ﬁ%,ﬁgwmﬁmﬂ mmwﬂmé—dm_ﬁ

A) Abhishek | L

B) Yash D) Data inadequate

60) In a certain language | *pre nat bis® means ‘smoking is hamful’, ‘vog dor

nat means *avoid harmf{ul habit* and ‘dor

bis yel" means “please avoid smoking', Which of the following means *hab in that language ?

UEH @iafaw smie Pre nat bis' 7gorat ‘smoking is harmful’, *vog dor nar U *avoid harmful

habit' 3nfSr “dor bis yey

AT grar 7

A) vog C) dor

B) nat D) big
Z-16-A
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61) Hartmann's solution s a-

A) Sodi TP,
im lactate njection C) A ; hloride in'ccl'ﬁt

| mmonium chlor 101
B) t:“JI‘I1|‘ua:ﬂ.nmI sodium Jaey ) |

ale solut;
lution D) None of the above

62) Which one “rthL‘SE e

" ‘ A radiopaque compound?
) Barium Chloride

C) Barium sulphate

B) Barium phosphate
_ D) None of the above

© Cheintii :
63) Quinidine act g Wntiarrhythmic drug by

channel blockade
B) Sodium channel blockade

A) Calcium
C) p-receptor blockade

D) None of the above

64) Centrally acting antihypertensive drug is:

A) Guancthidine C) a-methyldopa

B) Propranolol D) Prazosin

63) Antithyroid drug decreasc the synthesis of thyroxine by:
A) Decreasing the availability of amino acid C) Destroying the cell in thyroid gland
B) Interfearing with the incorporation of D) Allofthe above

iodide into thyroglobulin

66) Therapeutic index is a ratio of:

A) Toxic dosc and therapeutic dosc ' C) Toxic dosc and % of toxic responsc

B) Therapeutic dosc and % response D) Nonc of the above

67) Transport of drug against concentration gradicnt take place by:
A) Active transport C) Filtration
B) Passive transport + D) Allof the above

6%) Oral anticoagulant act by antagonizing the action of:
A) Calcium ion C) Fibrinogen

B) Prothrombin D) Vitamin K

69) Pyridoxine is administered with isoniazid to minimize the:
A) Hepatotoxicity C) Neurotoxicity

B) Allergic reaction D) Nephrotoxicity

1"
Z-16-A
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700 Phocomelia, induccd by thalidomide is:
A) Shortening ol upper or/ and lower Limb

B) Patient 18 not able to see bright Light

717 Schedule P s related to

A) Life periods of drugs in month

B) Toilet preparation

72) Example of Schedule *C* drugs

A) Tonies

B) Sera

73) The license for the manufacture of drugs are issued by

A) Director of Industries.

B) Health Ministry, Government of India

74) Government opium factory is situated at:

A) Ghazipur

B) Izamagar

)
D)

C)

D)

C)
D)

€)

D)

)
D)

Patient is not willing to enter dark room

None of above.

Ophthalmic preparation

Vaceines

Benzylpenicillin

None of the above

State Drug Licensing Authonty.

Drug Inspector of the area.

Lucknow

Kolkata

75) Alcoholic preparation can be stored in a warchouse for a maximum period of :

A) 5ycears

B) 4ycars

76) Coding of items helps in:
A) Handling of store items

B) Standardization of drug

77) Economic order quantity (EOQ) aims at minimizing

A) Carrying cosl
B) Ordering cost

78) ABC analysis is based on

A) Unit price material

B) Consumption value of material

Z-16-A
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D)

C)
D)

C)
D)

C)
D)

3 years

2 ycars

Reduction of items

All of the above

Both of carrying cost and ordering cost

Suppliers price

Storage value of material

All of the above
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Yy Calamine s

AV 2ine onade with zine stente

) 2ne onide with o small Propottion of

e l‘i\.hht

N Te S
0 The hormones relensed from neurohypophysis are :

A) Oxvtocin and ADI

B) Prolactin Releasing Hormone and Growth
Homone

S1) The function of central drug labortory is

A) 1o analyze the sample of drugs or

cosmetics

B) toissue loan license

i3
—

A) Tbuprofen

B) Indomethacin

C) zine oxide with o small proportion of
titanium dioxide

) silicone polymer

) Follicle Releasing Hormone and Growth
Homone

D) Thyroid Stmulating Hormone and
I'rolactin

(') toassuc repacking license

D) toissue manufacturing license

The drug which is indicated for paticnts at risk of Reye's syndrome is

C) Acctaminophen

D) Aspirin

$3) Which of the following insulin preparation has longest duration of action?

A) Scmilente
B) Lente

$4) Anti-microbial action of penicillin is due to its effect on

A) Protein synthesis

B) Cell wall synthesis

§5) Antileprotic action of Dapsone is duc to mainly effect on
A) Inhibition of folatc svnthesis

B) Phagocytosis

86) In tablet manufacturing process, Mottling refers to .....
A) unequal distribution of color on 1ablet
surface

B) tablet breaks into two layer

Z-16-A 13

C) Protamine zinc

D) Isnpﬂanc

) Cell membrane

D) DNA synthesis

C) Calcium channel blocker

D) DNA synthesis

C) development of cracks in tablet

D) formation of wings
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87) Schedule il of the Drug and Cosmetic Act, 1945 contains
A) Antibiotics and Antihistaminic C) Biological and special product
B) Vaccine and serm D) Drugs to be sold only on the prcscriplinn

of a registered medical practitioner

§8) Histamine concentration is highest in

A) Beta- cell C) C}-u:phnlylcﬁ
B) Mastccll D) Adipolyted

89) Identify antihistamine drug with additional scrotonin receptor block & good appetite stimulant property
A) Cyproheptadine C) Ranitidine
B) Cimetidine D) Chlorpheniramine

90) Erythromycin antibiotic belongs to which of the following class-
A) Beta-Lactum C) Macrolide
B) Aminoglycoside , D) Peptide

91) On a product, the label states protect from light. What type of decomposition does the product undergo?
A) Carboxylation C) Hydrolysis
B) Decarboxylation D) Oxidation

92) A drug that decreasc the activity of another drug is called :
A) Antagonist C) Adverse reaction
B) Agonist : D) Synergic

93) Chemical changes of the drugs in a living body are referred to as.
A) Digestion C) Absorption

B) Biotransformation D) Radiation

94) Centrally acting muscle relaxant. ‘
A) Halothane | C) Mephenesin

B) 2-tubocurarine D) Succinyl choline

95) Which among the following is an anti-filarial drug?
A) DEC C) PAS
B) FNH D) DDS

96) Affinity is a measure of.
A) Drug's binding to plasma protcins C) Inhibiting potency of a drug
B) Drug's binding to a receplor D) Bioavailability of a drug

Z-16-A 14
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=y Stevens Johnson svndrome | . *
a7) y me 18 the mogy COmmon adverg efleet associated with one of the following category of drugs.

A) Sulphonamides |
('y Macrolides

B) Pemicilling
D) Tetracyclmes

og) When was Drugs and Cosmetics Act passcd?

0™ Apnl, 1940
A) pr C) 9" September, 1994
7" March 1948 '
B) 7" March D) 10" April. 1919
00) Phenobarbitone 1s ..o, acting barbiturates .
A) Ultra short R C) Intermediate
B) Short - D) Long

100) Atropine is the ester of

A) Tropine and Mandelic acid C) Topic acid and Salicylic acid

B) Tropine and Tropic acid D) Tropine and Salicylic acid
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